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GSM/M-18 Aat is Fourier Series? Use this for analysis of output from a full
"WAVEAND OPTI C-S// wave rectifier. Define ripple factgrand find its value in output
Pap Er—-VIH : from the full wave rectifier. ?gﬂ 8 v :
Time allowed : 3 hours] [Maximum marks : 40 5. (a) Stateand prou;c Parseval's theorem. 6

) 't Is _ , o . _
Note =- Attempt five questions in ail. Question number 1 ) Give Fourier integralforeven fincion, )
compulsory. Four more questions are 10 be attempted

by selecting one question from each of the four units. | Unit I
) calculator 15 .

Use of Scientific (non-programmable
* allowed. G e

Ma} Why sound waves can not be polarised?

(k) _—How you can detect a plane polarised, a paﬂ@y plane
polarised and unpolarised light beam? 2

6. (a) State and prove modulation theorem for Fourier

| transform. 3

(b) Show that the Fourier transform of a Gaussian function is
also a Gaussian function. : o5

(q¢ _Whatare Dirichlet conditions for the validity of a periodic 7e~ Why matrix methods are used in paraxial optics? What is
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function to be expanded in Fourier Series? 2 translation matrix. Discuss the method for fﬂﬁ?@;}w\ofu‘anslaﬂon
(@éﬁ;t are applications for Fourier transforms? 2 A - htp:/fwww kuonline. in =7 8
ey Wihat is difference between a pin-cushion and barrel Unit-IV:
distortion? 1 . 8. (a) Whatareaberrations? Whatare its different types? 2
2. (a) What is optically active substance and what is specific (b) Explain spherical aberration and give various methods to
rotation? 2 minimizeit / 6
(b) Explain cor.mtructmn, working and uses of Laurent's half. ' Wﬂt is optical fibre? Explain its different types. 4
_ shade polarimeter. 6 '
(b) Write short note on applications of optical fibres:
3.. (a) What a're quartcr wave and half wave plates? Explain thejr @——A/—/
uses. - :

.. \ 4
(b) Two Nicol prisms are j ! iti
p are 1p erossed position. What % of

unpolarised light incident on this combination wil| pass |
- 4 .i L 11629
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